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R = 8.314 J/mol·K

R = 62.36 L·torr/mol·K

1 L·atm = 101.325 J

1 eV = 1.602× 10−19 J

c = 3.00× 108 m/s

Kw = 1.0× 10−14 at 25◦C

F = 96485 C/mol e−

∆G = ∆H − T∆S

∆G = ∆G◦ +RT lnQ

Kp = Kc(RT )∆n

Cgas = kH Pgas

∆Tf = i · kf ·m ∆Tb = i · kb ·m

PA = xA · PA,pure Π = i · cRT
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This print-out should have 1 question.
Multiple-choice questions may continue on
the next column or page – find all choices
before answering.

Extra credit

001 10.0 points

If more points are awarded on this assign-
ment, would you like them added to your
score?

1. YES, I would like the points and the
higher score.

2. NO, leave my score alone, I prefer the
lower score


